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Nro. De Control : ……….... 

 

LEVEL 3 
 

 
 
Estimated time needed: 20 minutes. 
 
 
Exercise 1 - Questions 1-7 

  

• Listen to three different commercials and circle the correct option: A, B or C. 
  
 You will hear the recording twice. After that will you have a minute to complete your 
 answers. 
 
First commercial: 
 
 1)  They are advertising ……………… 
  
        A - an ingredient 
        B - a toothpaste 
        C - a toothbrush 
 
 2)  Polydent has ……………………. 
  
       A - a new formula 
       B - a new taste 
       C - a new name 
 
 3)  The new economy size is ………………… 
  
        A - bigger 
        B - less expensive 
              C - smaller 
 
Second commercial: 
  
 4)  They are advertising …………………………. 
         
        A - an oil 
        B - a hairdresser 
        C - a shampoo 
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 5)  The bottle is different because of …………….. 
 
        A - the colour 
  B - the size 
             C - the shape 
 
Third comercial: 
  
 6)  They are advertising ……………………. 
 
  A - a skin powder 
  B - a washing powder 
  C - a baking powder 
 
 7)- $9.99 is what you have to pay for ……………… 
 
        A - a small size pack 
        B - a medium size pack 
  C - a large size pack 
 
 
Exercise 2 - Questions 8-12 

 

 

• You will listen to somebody speaking about an important experience. Say if the following 
sentences are TRUE or FALSE. 

  
 You will hear the recording twice and then you will have a minute to complete your 
 answers. 
 

 8   - The first time he saw his girlfriend she was waiting for the bus.                    ………… 

 9   - Both of them were alone.             ………… 

 10 - They sat one beside the other in the theatre.                                                  ………... 

 11 - She didn’t have a programme and he didn’t either.                                       ………... 

 12 - They’ve been dating since then.                                                                     ………... 
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Exercise 3 - Questions 13-20 

 
Kevin invited his friends to his birthday party. Listen to the messages they left on his answering 
machine and fill in the grid using only one or two words in each case. 
You will hear the recording twice and then you will have a minute to complete your answers. 
 
 

CALLER’S NAME YES / NO / NOT SURE 
IF NO, WHAT 

EXCUSE? 

1st) Janet 
 …………………………… …………………………… 

2nd) James 
 …………………………… …………………………… 

3rd) Carol 
 …………………………… …………………………… 

4th) Tom 
 …………………………… …………………………… 
5th) Susan 
 …………………………… …………………………… 

6th) Brian 
 

NOT SURE Finish assignment 
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KEY TO LISTENING COMPREHENSION. LEVEL 3. 

 

• Exercise 1 

 
 1 - B 
 2 - A 
 3 - B 
 4 - C 
 5 - A 
 6 - B 
 7 - C 
 
 

• Exercise 2 

 
 8   - FALSE 
 9   - TRUE 
 10 - TRUE 
 11 - FALSE 
 12 - TRUE 
 
 
 

• Exercise 3 
 

CALLER’S NAME YES / NO / NOT SURE IF NO, WHAT EXCUSE? 

1st) Janet 13- NO 14- Babysit 

2nd) James 15- YES   ------------------- 

3rd) Carol 16- NO 17- Work/Hospital 

4th) Tom 18- NO 19-France/Paris/Conference 

5th) Susan 20- YES    ------------------ 

6th) Brian NOT SURE Finish assignment 

 
 17 and 19: any of the options are accepted. 
 
 
 
1 point each correct answer. Total: 20 points.  


